
HW 16, chemistry 2 

 

The names of a lot of substances from different classes of organic compounds can 

be figured out by remembering how to name alkanes with different numbers of 

carbons in their structures. 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

To name alcohols you add ending -ol to the names: CH3OH methanol, C2H5OH 

ethanol, C3H7OH propanol, C4H9OH butanol etc. We can also indicate the 

position of OH group in the name, for example 3-hexanol  has chain with 6 carbon 

atoms, OH group will be attached at the carbon number 3: CH3-CH2-CH (OH) -

CH2 -CH2-CH3 

 

Chemical properties of alcohols:  

The most common reaction is dehydration, 180 C and catalyst are used to 

dehydrate alcohols, the products are going to be corresponding alkene and water. 

 

 

 

 

 



 

 
As you can see above, if the alcohol substance has two alkyl group attached to the 

carbon atom bonded to the -OH, then the dehydration can result in the formation of 

two products. The major product is the one that forms by removing the hydrogen 

from the carbon atom that has the smaller number of hydrogen atoms. 

 

Questions 

 

1. Write the reaction of dehydration of 3-pentanol at 180 C. 

2. Write the reaction of dehydration of cyclohexanol at 180 C. 

 


